
 

1. How many mathematics symbol are in the below picture? 

 

 
 

 

 

(a)  4       (c) 7  

       

(b)  5       (d) 8  
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2. Which number sentence tells how many blocks there in all? 

 

 
 

 

(a)  3 + 5 =8     (c) 4+4 = 8   

       

(b) 6 + 1 =7        (d) 4+3 = 7  

 

 

 

3. Find the missing number in the below number line 

 

 

 
 

 

(a)  16      (c) 11 

       

(b) 15       (d) 18 
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4. Which of the following instrument helps us to tell time? 

 

 

 
 

 

 

(a) A       (c) C     

  

(b) B       (d) None of these                                              
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5. Which is another way to write 20? 

 

 

(a) 3 + 16        (c) 2 + 19 

    

(b) 13 + 7       (d) 4 +15 

 

 

 

6. What time does the clock below? 

 

 

 
 

 

(a) 5:20      (c) 8:30 

 

(b) 7:30      (d) 4:30 
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7.   

 

 
 

Which of the above is larger? 

 

(a) A       (c) C 

 

(b) B       (d) None of these  
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8. Which shape does not fit with others? 

 

 

 
 

 

(a)     (c)  

  

(b)     (d) None of these  
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9. Which block should go on top to continue the pattern? 

 

 

 
 

 

(a)     (c)  

 

(b)     (d) None of these  
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10. Which is the largest flower? 

 

 

(a)     (c)  

 

 

       

(b)   (d) None of these  

 

 

11. David has 22 books and Chris has 17 books which sentence 

shows how many more books Chris and David have in all? 

 

 

(a) 22-17      (c) 12 -12 

 

(b) 22+17      (d) 17+15 
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12. What time does the below clock show? 

 

 

 
 

 

(a) 5’o clock     (c) 7’o clock 

 

(b) 10’o clock      (d) 12’o clock  

 

 

13. Kelly picked 7 pears. Noah picked 5 pears. How many more 

pears did Kelly pick than Noah? 

 

 

(a) 1       (c) 2 

 

(b) 3        (d) 4   
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14. Which number does the picture show totally? 

 
 

 

(a) Ten       (c) Fifty  

 

(b) seven hundred     (d) Hundred  

 

 

15.  Use the tally chart below to answer the question. How many 

are not stickers? 

 

 

 

 
 

 

(a) 7       (c) 4 

 

(b) 9        (d) 10   
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16. How many hats are in the below picture? 

 

 

 
 

 

(a) 5       (c) 6 

 

(b) 10       (d) 12  

 

 

 

17. Tina has 2 cats. Ann has 1 cat. Which number sentence shows 

how many cats they have in all? 

 

 

(a) 1+3=4      (c) 2+1=3 

 

(b) 1+0=1       (d) 7+2=9 

 

 

18. Jen has 3 pennies. She finds 2 more pennies. How many 

pennies she has in all? 

 

 

(a) 3       (c) 2  

 

(b) 5        (d) 6   
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19.  Cara has 11 carrots. She ate 5 of them. How many carrots did 

she have left?  

 

 

(a) 11       (c) 5 

 

(b) 8       (d) 6 

 

 

20. How many hearts are there? 

 

 

 
 

 

(a) 2       (c) 3  

 

(b) 4        (d) 5 
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21. How many dogs do the students have? 

 

 

 
 

 

(a) 6       (c) 4  

 

(b) 3        (d) 8 
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22. Which of the below pencil is shorter 

 

 

 
 

 

(a) A       (c) C  

 

(b) B       (d) None of these  
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23. Which is in the bottom center? 

 

 

 
 

 

(a)       (c)  

 

(b)      (d)  

 

 

 

 

 

 

 

 

 

 

 

 

 

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

www.onlinemath4all.com


 

24. The fruit basket contains the below types of fruits. Which is 

the least number of fruit does the basket have? 

 

 
 

 

 

(a)  Apple      (c) Pears  

 

 

(b) Oranges      (d) Limes  
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25. The below graph shows the mode of traveling to school by 

students. 

 

 

   = 5 students  

= 5 students  

 = 5 students  

 = 5 students  

 

How many students travel by Cycle? 

 

 

(a) 5       (c) 12  

 

(b) 10       (d) 15 
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26. Most friends have ____ eyes.  

 

 

 
 

 

(a) Blue       (c) Green   

 

(b) Brown       (d) Other   
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27. What color is the circle on the left? 

 
 

 

(a) Yellow       (c) Red  

 

(b) Orange      (d) None of these  
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28. Where is the hanger ? 

 

 

 
 

 

(a) Top      (c) Middle  

 

(b) Left       (d) Bottom 
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29.  

 
Why should you use this instrument to measure? 

 

 

(a) The length of a pencil   (c) The temperature of air   

 

(b) The weight of an apple    (d) None of these  

 

 

30. Which number comes next? 

10, 11, 12, _____ 

 

 

(a) 12      (c) 13  

 

(b) 10      (d) 14 
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31. Which is in the bottom center? 

 
 

 

(a)  Marker    (c)  Chair  

 

(b)  Can opener    (d)  donkey 

 

 

 

 

 

 

 

 

 

 

 

 

 

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

www.onlinemath4all.com


 

 

32.  

 
 

 

 

(a) Top Center     (c) Right Center 

 

(b) Left center     (d) Top left  

 

 

33. Which is more, 1 quart or 4 cups? 

 

 

(a) 1 Quart     (c) 4 cups   

 

(b) Neither; they are equal   (d) None of these  
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34. How do you put this item into the diagram? 

 

 

 
 

 

(a)     (c)  

 

(b)     (d)  
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35. How do you put this item into the diagram? 

 

 

 
 

 

(a)     (c)   

 

(b)      (d)  

 

 

36. How long does a golf tournament last? Select the best 

answer. 

 

 

(a) 3 hours      (c) 3 days   

 

(b) 3 months     (d) 3 years 
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37. Alana and Tess went for a hike. They started down the trail 

at nine o'clock. The hike took five hours. What time was it when 

Alana and Tess finished the hike? 

 

 

(a) 2’o clock     (c) 11’o clock  

 

(b) 5’o clock     (d) 4’o clock 

 

 

38. Harry made lasagna for dinner. He put the lasagna into the 

oven at seven o'clock and took it out one hour later. What time 

was it when Harry took out the lasagna? 

 

 

(a)      (c)   

 

(b)      (d)  
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39. What season comes right after spring? 

 

 

(a) Winter      (c) Summer  

 

(b) Fall      (d) None of these  

 

 

40. Alroy's nail is 9 centimeters long. Fen's nail is 1 centimeter 

longer than Alroy's. Danielle's nail is 3 centimeters shorter than 

Alroy's. Which nail is shorter than 7 centimeters? 

 

 

(a) Fen’s nail     (c) Alroy’s nail  

 

(b) Danielle’s nail    (d) None of these  

 

41. Lia's garage door opener is 13 centimeters long. Owen's 

garage door opener is 2 centimeters shorter than Lia's. Gwen's 

garage door opener is 4 centimeters longer than Lia's. Who has 

the shortest garage door opener? 

 

 

(a) Gwen      (c) Lia  

 

(b) Owen      (d) None of these 
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42. What fraction of the paper clips are pink? 

 
 

 

 

(a) 3/4      (c) 2/4 

 

(b) 5/4      (d) 1/4 

 

 

43. Add the following 5 and 2 

 

 

(a) 5       (c) 2 

 

(b) 7       (d) 8 
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44. If you select a marble without looking, which color are you 

less likely to pick? 

 

 

 
 

 

 

 

(a) Yellow       (c) Blue  

 

(b) Both       (d) None of these  

 

 

 

45. Which day comes after Tuesday? 

 

 

(a) Monday      (c) Wednesday  

 

(b) Tuesday     (d) Friday 
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46. What is the largest number in below numbers? 

 

 
 

(a) 10      (c) 2  

 

(b) 5       (d) 7 

 

 

47. What is the Roman numeral for “6” 

 

 

(a) II      (c) VI  

 

(b) X       (d) V 

 

 

48. What is the number for the Roman numeral “x” 

 

 

(a) 10      (c) 2  

 

(b) 5       (d) 7 
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49. What is the number just before “99”? 

 

 

(a) 10      (c) 98  

 

(b) 100      (d) 70 

 

 

50. What is the name of the shape? 

 

 

 
 

 

(a) Circle       (c) Rectangle   

 

(b) Triangle      (d) Square  
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Answers: 

 

 

 

1. b  2. d  3. a  4. c  5. b  6. b   

 

 

7. b  8. a  9. a  10. b  11. b  12.a 

 

 

13.c  14. d  15. b  16. c  17. c  18. b 

 

 

19. d  20. c  21. a  22. b  23. c  24. d  

 

 

25. b  26. b  27. a  28. d  29.c  30. c 

 

 

31. a  32. d  33. b  34. d  35. c  36. c 

 

 

37. a  38. a  39.c  40. b  41. b  42. d 

 

 

43. b  44. c  45. c  46.a  47. c  48. d 

 

 

49. c  50. c 
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